pipe 04

Determine the power, in W, extracted by the turbine in the system shown below. The pipe entrance is
sharp-edged and the volumetric flow rate is 0.004 m3/s. The density of water is 998 kg/m? and the
kinematic viscosity is 1.005¢-6 m?/s.

turbine fully open globe valve

. , fluid discharges into
the atmosphere

cast iron pipe
diameter = 5 cm
length = 125 m
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Determine the power, in W, extracted by the turbine in the system shown below. The pipe entrance is

sharp-edged and the volumetric flow rate is 0.004 m*/s. The density of water is 998 kg/m’ and the
kinematic viscosity is 1.005¢-6 m?/s.

turbine fully open globe valve

= , fluid discharges into
the atmosphere

cast iron pipe
diameter = 5 cm
length =125 m
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